Cambridge English Certificate B2 – Worksheet 2

I. Read the text below and decide which answer in bold best fits each gap.

For hundreds of millions of years, a top-shaped rubble pile called Bennu has orbited / circled / flown around / been in orbit around the sun in relative isolation. The asteroid, about a third of a mile wide at its centre / middle / equator / medium, causes / pauses / poses / imposes  no immediate threat to our planet. But hundreds of years from now, there is a small luck / opportunity / chance / hazard that Bennu could slam into Earth. Nearly all of the riskiest meetings / occurrences / encounters / matters with Bennu will occur / realize / produce / emerge in the late 2100s and early 2200s, with the single likeliest impact coming on the afternoon of September 24, 2182. On that Tuesday, Bennu has about a 1-in-2,700 chance of slamming / crashing / hitting / bumping our planet. 
II. Read the text. Use the word in brackets to form a word that fits in the gap.
For many people, there is one animal that comes to mind when they think of creatures _ _ _ _ _ _ _ _ _ (threat) by climate change: the polar bear. Polar bears are the _ _ _ _ _ _ _ _ _ _ (large) terrestrial carnivores on Earth, but their fate is _ _ _ _ _ _ _ _ _ _(intimate) tied to what happens to the Arctic's sea ice. In recent years, images of emaciated bears searching _ _ _ _ _ _ _ _ _ (despair) for food have made the Arctic's apex predator the poster child for the effects of global _ _ _ _ _ _ _ _ _(warm). Indeed, The life of a polar bear has always been _ _ _ _ _ _ _ _ _ _ (character) by periods of feast and famine. If humans fail to reduce greenhouse gas _ _ _ _ _ _ _ _ _ (emit), most populations of the iconic species could struggle to survive beyond 2100. The Arctic's sea ice has shrunk _ _ _ _ _ _ _ _ _ (drama) in recent decades, particularly during summer. _ _ _ _ _ _ _ _ _ _(except) high air temperatures are behind the Arctic's declining sea ice. _ _ _ _ _ _ _ _ _ _(solo) females can fast for a staggering 255 days before their chances of survival decline steeply. 
II. Key word transformation - Complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Do not change the word given. You must use between three and eight words, including the word given.

1. The price has risen considerably compared to last year. 
NEARLY 
The price is _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ last year. 
2. Pete and his twin brother are both as intelligent as each other. 
BIT
Pete is _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ his twin brother. 
3. I don't like either solution but Sally’s is not quite as bad. 
LESSER
I don’t like either solution but Sally’s is the lesser _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _
4. Not as many people attend his lectures now as when they first started.
LOT
There are a _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ his lectures now as when they first started.
5. My neighbour thinks he's really smart but he isn't.
HALF
My neighbour isn't _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ he thinks he is.
6. Until he graduates, he is as qualified to be a dentist as I am. 
MORE
Until he graduates, he  _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _ _qualified to be a dentist as I am.

III. Read the text below and think of the word which best fits each gap. Use only one word in each gap. 
The Norman invasion of England in 1066 had a major impact not _ _ _ _ _  on the country, but _ _ _ _ _ on the English language. William the Conqueror and his merry band of Normans _ _ _ _ _  with them Norman French, which became the language of the court, government and the upper _ _ _ _ _  for the next three centuries. English _ _ _ _ _ _ to be used by ordinary people, and Latin was the language of the church. _ _ _ _ _the period when Norman French was the dominant language, English was rarely used _ _ _ _ _  writing, and started to change in many ways. Before the conquest English had a _ _ _ _ _ more complex grammar, however 70 or 80 years later, its grammar had become much simpler. This change is known as the transformation _ _ _ _ _ Old English to Middle English. _ _ _ _ _ the same time Norman French became Anglo-Norman as it was itself affected by English.
